THESE ARE QUESTIONS IN COIMBATORE
1. In a two-dimensional array, X (9, 7), with each element occupying 4 bytes of memory,                                                                                                                                                        with the address of the first element X (1, 1)is 3000, find the address of X (8, 5). = 3212

 2. In the word ORGANISATIONAL, if the first and second, third and forth, forth and fifth,fifth
       And sixth words are interchanged upto the last letter, what would be the tenth letter from right?I                 

3. What is the largest prime number that can be stored in an 8-bit memory?
4. Select the odd one out. a. Java   b. Lisp   c. Smalltalk   d. Eiffel.
5. Select the odd one out a. SMTP b. WAP c. SAP d. ARP
6. Select the odd one out a. Oracle b. Linux c. Ingress d. DB2
7. Select the odd one out a. WAP b. HTTP c. BAAN d. ARP
8. Select the odd one out a. LINUX b. UNIX c. SOLARIS d. SQL SEVER
9. Select the odd one out a. SQL b. DB2 c. SYBASE d. HTTP
10. The size of a program is N. And the memory occupied by the program is given by M = square root of 100N. If the size of the program is increased by 1% then how much memory now occupied?
11.  A man, a woman, and a child can do a piece of work in 6 days. Man only can do it in 24 days. Woman can do it in 16 days and in how many days child can do the same work?
12.  In which of the system, decimal number 384 is equal to 1234?
13.  Find the value of the 678 to the base 7.
14.  Number of faces, vertices and edges of a cube
15.  Complete the series 2, 7, 24, 77,__ 
16.  Find the value of @@+25-++@16, where @ denotes "square" and + denotes "square root".
17.  Find the result of the following expression if, M denotes modulus operation, R denotes round-off, T denotes truncation:  M (373, 5) +R (3.4) +T (7.7) +R (5.8)
18.  If TAFJHH is coded as RBEKGI then RBDJK can be coded as ---------
19.  G(0)=-1, G(1)=1, G(N)=G(N-1) - G(N-2),  G(5)= ?
20.  What is the max possible 3 digit prime number?
21.  A power unit is there by the bank of the river of 750 meters width. A cable is made from power unit to power a plant opposite to that of the river and 1500mts away from the power unit. The cost of the cable below water is Rs.15/- per meter and cost of cable on the bank is Rs.12/- per meter. Find the total of laying the cable.
23.  In Madras, temperature at noon varies according to -t^2/2 + 8t + 3, where t is elapsed time. Find how much temperature more or less in 4pm to 9pm.         ANS =7.5

24.  The size of the bucket is N kb. The bucket fills at the rate of 0.1 kb per millisecond. A programmer sends a program to receiver. There it waits for 10 milliseconds. And response will be back to programmer in 20 milliseconds. How much time the program takes to get a response back to the programmer, after it is sent? ANS:30ms
26.  If the vertex (5, 7) is placed in the memory. First vertex (1, 1)‘s address is 1245 and then address of (5,7) is ----------
27.  Which of the following are orthogonal pairs?  a. 3i+2j   b. i+j    c. 2i-3j   d. -7i+j
28.  If VXUPLVH is written as SURMISE, what is SHDVD?
29.  If A, B and C are the mechanisms used separately to reduce the wastage of fuel by 30%, 20% and 10%. What will be the fuel economy if they were used combined.
30.  What is the power of 2?   a. 2068 b.2048 c.2668

31.  Complete the series. 3, 8, --, 24, --, 48, 63
32.  Complete the series. 4, -5, 11, -14, 22, ---
33.  A, B and C are 8 bit no’s. They are as follows: 

        A      1      1      0      1      1      0      1      1

        B      0      1      1      1      1      0      1      0

        C      0      1      1      0      1      1      0      1

          Find ( (A-B) u  C )=?   Hint: A-B is {A} – {A n B}
34. A Flight takes off at 2 A.M from northeast direction and travels for 11 hours to reach the destination which is in North West direction. Given the latitude and longitude of source and destination. Find the local time of destination when the flight reaches there?
35. A can copy 50 papers in 10 hours while both A & B can copy 70 papers in 10 hours. Then for how many hours required for B to copy 26 papers?
36. A is twice efficient than B. A and B can both work together to complete a work in 7 days. Then find in how many days A alone can complete the work?
37. A finish the work in 10 days. B is 60% efficient than A. So how days do B take to finish the work?
38. A finishes the work in 10 days & B in 8 days individually. If A works for only 6 days then how many days should B work to complete A’s work?
39. Given the length of the 3 sides of a triangle. Find the one that is impossible? (HINT: sum of smaller 2 sides is greater than the other one which is larger)
40. Find the singularity matrix from a given set of matrices?(Hint det(A)==0)
41. A 2D array is declared as A[9,7] and each element requires 2 byte. If  A[ 1,1 ] is  stored in 3000. Find the memory of A[8,5] ?
42. Sum of slopes of 2 perpendicular st. lines is given. Find the pair of  lines from the given set of options which satisfy the above condition? 
44. (Momentum*Velocity)/(Acceleration * distance )  find units.
45. The number 362 in decimal system is given by (1362)x  in the X system of numbers find the value of X  a}5  b) 6  c) 7  d) 8  e) 9
 46. Given $ means Tripling and % means change of sign then find the value of  $%$6-%$%6
47. My flight takes of at 2am from a place at 18N 10E  and landed 10 Hrs later at a place with coordinates 36N70W.   What is the local time when my plane landed.a) 6:00 am  b) 6:40am c)7:40   d)7:00 e)8:00 (Hint : Every 1 deg longitude is equal to 4 minutes . If west to east add time else subtract time) The Answer is 6:40 AM

48. Find the highest prime number that can be stored in an 8bit computer.
49. Which of the following set of numbers has the highest Standard deviation?
      1, 0, 1,0,1,0    -1,-1,-1,-1,-1,-1       1, 1, 1,1,1,1         1, 1, 0,-1, 0,-1
TCS PAPER AT CHENNAI

1.If log 0.317=0.3332 and log 0.318=0.3364 then find log 0.319? log 0.317=0.3332 and log 0.318=0.3364thenlog 0.319=log0.318+(log0.318-log0.317)0.3396
2.A box of 150 packets consists of 1kg packets and 2kg packets. Total weight of box is 264kg. How many 2kg packets are there, ANS :  Number of 2 kg Packs = 114.
3.A file is transferred from one location to another in ‘buckets’. The size of the bucket is 10 kilobytes. Eh bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt of the bucket the receiver sends an acknowledgement that reaches sender in 100 milliseconds. Assuming no error during transmission, write a formula to calculate the time taken in seconds to successfully complete the transfer of a file of size N kilobytes.

(n/1000)*(n/10)*10+(n/100)....as i hv calculated...~~!not 100% sure
4.A fisherman's day is rated as good if he catches 9 fishes ,fair if 7 fishes and bad if 5 fishes .He catches 53 fishes in a week n had all good,faiur n bad days in the week.So how many good,fair n bad days did the fisher man had in the week  Ans: 4 good ,1 fair, 2bad. ==== total 7 days.

5.Y catches 5 times more fishes than X. If total number of fishes caught by X and Y is 42, then number of fishes caught by X?ANS:p=7,r=35

6.Three companies are working independently and receiving the savings 20%, 30%, 40%. If the companies work combinely, what will be their net savings?
7.The ratio of incomes of C and D is 3:4.the ratio of their expenditures is 4:5.Find the ratio of their savings if the savings of C is one fourths of his income?ans:12/19
8.If G(0) = -1 G(1)= 1 and G(N)=G(N-1) - G(N-2) then what is the value of G(6)?ans: -1
9.One circular array is given(means memory allocation tales place in circular fashion) diamension(9X7) and sarting add. is 3000,What is the address od (2,3)........ANS: 3012.

10.Which of the following is power of 3 a) 2345 b) 9875 c) 6504 d) 9833
11.The size of a program is N. And the memoryoccupied by the program is given by M = square root of100N. If the size of the program is increased by 1%then how much memory now occupied ?
12.A bus started from bustand at 8.00a m and after 30 min staying at destination, it returned back to the bustand. the destination is 27 miles from the bustand. the speed of the bus 50 percent fast speed.at what time it retur4ns to the bustand hi friend. Ans==11 a.m

13..In two dimensional array X(7,9) each element occupies 2 bytes of memory.If the address of first element X(1,1)is 1258 then what will be the address of the element X(5,8) ? ANS: 1338.
14.The temperature at Mumbai is given by the function: -t2/6+4t+12 where t is the elapsed time since midnight. What is the percentage rise (or fall) in temperature between 5.00PM and 8.00PM?
15.Low temperature at the night in a city is 1/3 more than 1/2 high as higher temperature in a day.  Sum of the low temperature and highest temp. is 100 degrees. Then what is the low temp? ANS=Lowest temp is 40, HIHSET x=60

16.A person had to multiply two numbers. Instead of multiplying by 35, he multiplied by 53and the product went up by 540. What was the raised product? Ans:x*53-x*35=540=> x=30 therefore, 53*30=1590 
17.How many positive integer solutions does the equation 2x+3y = 100 have?

there is a simple way to answer this kind of Q's given 2x+3y=100, take l.c.m of 'x' coeff and 'y' coeff i.e. l.c.m of 2,3 ==6then divide 100 with 6 , which turns out 16 hence answer is 16short cut formula--- constant / (l.cm of x coeff and y coeff)
18.mal bought 5 pens, 7 pencils and 4 erasers. Rajan bought 6 pens, 8 erasers and 14 pencils for an amount which was half more than what Amal had paid. What % of the total amount paid by Amal was paid for pens?Let, 5 pens + 7 pencils + 4  erasers = x  rupees so 10 pens  + 14 pencils + 8 erasers = 2*x rupees also mentioned, 6 pens + 14 pencils + 8 erarsers = 1.5*x rupees so (10-6) = 4 pens = (2-1.5)x rupees so 4 pens = 0.5x rupees => 8 pens = x rupees so 5 pens = 5x/8 rupees  = 5/8 of total (note x rupees is total amt paid byamal) i.e 5/8 = 500/8% = 62.5% is the answer
19.I lost Rs.68 in two races. My second race loss is Rs.6 more than the first race. My friend lost Rs.4 more than me in the second race. What is the amount lost by my friend in the second race? ANS=41 Rs
20.Ten boxes are there. Each ball weighs 100 gms. One ball is weighing 90 gms. i) If there are 3 balls (n=3) in each box, how many times will it take to find 90 gms ball? ii) Same question with n=10 iii) Same question with n=9to methe chances arewhen n=3 (i) nC1= 3C1 =3 for 10 boxes  10*3=30   (ii) 10C1=10 for 10 boxes ....10*10=100(iii)9C1=9 for 10 boxes .....10*9=90
21. (1-   1/6) (1-1/7).... (1- (1/ (n+4))) (1-(1/ (n+5))) = ? leaving the first numerater and last denominater, all the numerater and denominater will cancelled out one another. Ans. 5/(n+5)

22.A face of the clock is divided into three parts. First part hours total is equal to the sum of the second and third part. What is the total of hours in the bigger part?the clock normally has 12 hrthree parts x,y,zx+y+z=12,x=y+z,2x=12,x=6
23.With 4/5 full tank vehicle travels 12 miles, with 1/3 full tank how much distance travels?
4/5 full tank= 12 mile,1 full tank= 12/(4/5),1/3 full tank= 12/(4/5)*(1/3)= 5 miles
24.wind flows 160 miles in 330min.for 80 miles how much time required?
160 miles= 330 min,1 mile = 330/160,80 miles=(330*80)/160=165 min.
25.A person was fined for exceeding the speed limit by 10mph.another person was also fined for exceeding the same speed limit by twice the same if the second person was travelling at a speed of 35 mph. find the speed limit?(x+10)=(x+35)/2
26.A sales person multiplied a number and get the answer is 3 instead of that number divided by 3.what is the answer he actually has to get.?Assume 1,1* 3 = 3,1*1/3=1/3,got 1/3
27.A person who decided to go weekend trip should not exceed 8 hours driving in a day average speed of forward journey is 40 mph due to traffic in Sundays the return journey average speed is 30 mph. How far he can select a picnic spot.
28.car is filled with four and half gallons of oil for full round trip. Fuel is taken 1/4 gallons more in going than coming. What is the fuel consumed in coming up?.

let feul consumed in cming up is x.thus equation is: x+1.25x=4.5ans:2gallons
29.A work is done by the people in 24 min. One of them can do this work alone in 40 min. How much time required to do the same work for the second person?Two people work together in 24 mins.,So, their one day work is(1/A)+(1+B)=(1/24).One man can complete the work in 40mins,one man's one day work (1/B)= (1/40),(1/A)=(1/24)-(1/40),(1/A)=(1/60).So, A can complete the work in 60 mins.
30.in a company 30%are supervisors and 40% employees are male if 60%of supervisors are male.What is the probability? That a randomly chosen employee is a male or female?40% employees are maleif 60%of supervisors are male so for100 i 26.4%sothe probability is0.264
31.In 80 coins one coin is counterfeit what is minimum number of weighing to find out counterfeit coin?

32.2 oranges, 3 bananas and 4 apples cost Rs.15. 3 oranges, 2 bananas, and 1 apple costs Rs 10. What is the cost of 3 oranges, 3 bananas and 3 apples?2x+3y+4z=15,3x+2y+z=10,adding

5x+5y+5z=25,x+y+z=5 that is for 1 orange ,1 bannana and 1 apple requires 5Rs.so for 3 orange ,3 bannana and 3 apple requires 15Rs.
33.In 8*8 chess board what is the total number of squares?n x (n + 1) x (2n + 1)/6
34.If Rs20/- is available to pay for typing a research report & typist A produces 42 pages and typist B produces 28 pages. How much should typist A receive?Here is the answer Find of 42 % of 20 rs with respect to 70 (i.e 28 + 42) ==> (42 * 20 )/70 ==> 12 Rs
35.An officer kept files on his table at various times in the order 1,2,3,4,5,6 .Typist can take file from top whenever she has time and type it.What order she cann
t type.?
36.In some game 139 members have participated every time one fellow will get bye what is the number of matches to choose the champion to be held?the answer is 138 matches
37.One tank will fill in 6 minutes at the rate of 3cu ft /min, length of tank is 4 ft and the width is 1/2 of length, what is the depth of the tank?3 ft 7.5 inches

38.There is a six digit code. Its first two digits, multiplied by 3 gives all ones. And the next two digits multiplied by 6 give all twos. Remaining two digits multiplied by 9 gives all threes. Then what is the code?ANS:37

39.There are 4 balls and 4 boxes of colours yellow, pink, red and green. Red ball is in a box whose colour is same as that of the ball in a yellow box. Red box has green ball. In which box you find the yellow ball?ans is green...
40.A bag contains 20 yellow balls, 10 green balls, 5 white balls, 8 black balls,and 1 red ball. How many minimum balls one should pick out so that to make surethe he gets at least 2 balls of same color?.Ans:he should pick 6 ball totally.

41.What is the no of 0’s at the end of the product of the no’s from 1to 100?For every 5 in unit palce one zero is addedso between 1 to 100 there are 10 nos like 5,15,25,..,95 which has 5 in unit place.Similarly for every no divisible by 10 one zero is added in the answer so between 1 to 100  11 zeros are added for 25,50,75 3 extra zeros are added. so total no of zeros are 10+11+3=24
42.a number has it first digit equals to the numbers of 1's, second digit equals to the numbers of 2's, 3rd digit equals to the numbers of 3's .4th equals number of 4’s…till 9th digit equals to the numbers of 9's and 10th digit equals to the number of 0's. what is the number?.(6marks) 2100010006 –ans:2100010006
43.There are two numbers in the ratio 8:9. if the smaller of the two numbers is increased by 12 and the larger number is reduced by 19 thee the ratio of the two numbers is 5:9.Find the larger number?8x:9x initially,8x+ 12 : 9x - 19 = 5x:9x
44.There are three different boxes A, B and C. Difference between weights of A and B is 3 kgs. And between B and C is 5 kgs. Then what is the maximum sum of the differences of all possible combinations when two boxes are taken each time?A-B = 3,B-c = 5,a-c = 8,so sum of diff = 8+3+5 = 16 kgs
45.A and B are shooters and having their exam. A and B fall short of 10 and 2 shots respectively to the qualifying mark. If each of them fired atleast one shot and even by adding their total score together, they fall short of the qualifying mark, what is the qualifying mark?ans is 11
46.A, B, C, and D tells the following times by looking at their watches. A tells it is 3 to 12. B tells it is 3 past 12. C tells it is 12:2. D tells it is half a dozen too soon to 12. No two watches show the same time. The difference between the watches is 2,3,4,5 respectively. Whose watch shows maximum time?A shows 11:57, B shows 12:03, C shows 12:02, and D shows 11:06 therefore,max time is for B
47.Falling height is proportional to square of the time. One object falls 64cm in 2sec than in 6sec from how much height the object will fall?. falling height is 64cm at 2secthe proportional constant is=64/(2*2)=16;, at 6sec the object fall maximum (16*6*6)cm=576cm;
48.askar average in first 50 innings was 50. After the 51st innings his average was 51 how many runs he made in the 51st innings?first 50 ings.- run= 50*50=2500,1st ings.- avg 51. so total run =51*51=2601.so run scored in that ings=2601-2500=101 runs.
49.an,a women and a child can do a piece of work in 6 days,man can do it in 14 days,women can do it 16 days,and in how many days child can do the same work?The child does it in 24 days
                                        TCS AT PEG PONDICHERY
1. ODD one out

   Select the odd one out…..a. Java  b. Lisp  c. Smalltalk  d. Eiffel. Ans: lisp

   Select the odd one out a. SMTP b. WAP c. SAP d. ARP. Ans: SAP

   Select the odd one out a. Oracle b. Linux c. Ingress d. DB2  Ans: Linux

   Select the odd one out a. WAP b. HTTP c. BAAN d. ARP Ans: BANN

   Select the odd one out a. LINUX b. UNIX c. SOLARIS d. SQL SEVER Ans: d

    Select the odd one out a. SQL b. DB2 c. SYBASE d. HTTP Ans: HTTP
2. following is not a triangle:

A) (60o, 80o, 20o) B) (90o, 60o, 30o) C) (54o, 66o, 60o) D) (69o, 51o, 60o)Ans: A (since sum of the angles in a triangle = 180o.)

3. following is a planar cube (E, V, F):(12, 8, 6)    (12, 6, 8)    (6, 6, 8)    (6, 8, 6)E - no. of edges V - no. of vertices F - no. of facesANS:A
4. greatest prime number among the following which can be stored in a 9-bitcomputer is:ans.509
5.Fit a suitable curve with the given data.  x y,1000 3

A) y = log x B) y = log 10x C) y = -10log x D) y = ex
6.How many B's are followed by G's which are not followed by S's in the following series:

B B G M P Q B G S K O B G A S B B G D E F B G S T I

Ans: 4 (Another Q on the same logic was also asked.)
7. M(373,5) + R(3.4) + T(7.7) - R(5.8) = ___M - Modulo R - Round-off T – Truncate
8.There is a matrix X of order 7 9 whose elements will be filled column-wise. The address of the first element X(1,1) is 1258. Each element occupies 4 bytes of memory. Then the address of the element X(5,8) is 1473.

9.The following is not a triangle:A) (2,3,4) B) (3,4,5) C) (5,5,5) D) (1,3,5)

10.(Momentum*Velocity)/(Acceleration * distance). Find units/Mass
11.Which of the following set of numbers has the highest Standard deviation?

a)1,0,1,0,1,0        b) -1, -1, -1, -1, -1, -1 c)1,1,1,1,1,1       d) 1,1,0, -1,0, -1

1. largest prime no. in 8 bit computer. Ans: 251  
12. A man was arrested for exceeding the speed limit by 10 miles an hour. A second man was charged with exceeding the same limit by twice as much. The second man was driving 35 miles per hour. What was the speed limit?Ans. 15 mph
14. A 3-gallon mixture contains one part S and two parts R. In order to change it to a mixture containing 25% S, how much R should be added?Ans. (d) 1 gallon
15. (data was changed)A bus started from bustand at 8.00am , and after staying for 30 minutes at a destination, it returned back to the busstand. The destination is 27 miles from the bus stand. The speed of the bus is 18mph. During the return journey bus travels with 50% faster speed.At what time does it return to the bus stand?Ans. 11.00am
16. (data was changed) Fathers age is 5 times his son's age. 4 years back the father was 9 times older than son.Find the fathers' present age.Ans. 40 years
17. Select the odd one out a. WAP b. HTTP c. BAAN d. ARP
18. Number of faces, vertices and edges of a cube Ans: 6 8 12
19. Complete the series. 4, -5, 11, -14, 22, -- Ans: -27(similar Series)
20. (Momentum*Velocity)/(Acceleration * distance). Find units.Ans: mass 
29. If A, B and C are the mechanisms used separately to reduce the wastage of fuel by 30%, 20% and 10%. What will be the fuel economy if they were used combined.?
                                                 SASTRA & tahaarajaTANJUR
1. In which of the system, decimal number 384 is equal to 1234?

2. Find the value of the 678 to the base 7.

3. Number of faces, vertices and edges of a cube

4. Complete the series 2, 7, 24, 77,__

5. Find the value of @@+25-++@16, where @ denotes "square" and + denotes "square root".

6. What is the max possible 3 digit prime number?

7. A power unit is there by the bank of the river of 750 meters width. A cable is made from power unit to power a plant opposite to that of the river and 1500mts away from the power unit. The cost of the cable below water is Rs. 15/- per meter and cost of cable on the bank is Rs.12/- per meter. Find the total of laying the cable. ANS:20250

8. If VXUPLVH is written as SURMISE, what is SHDVD?

9. What is the power of 2? a. 2068 b.2048 c.2668

10. Complete the series. 3, 8, --, 24, --, 48, 63 &  4, -5, 11, -14, 22, ---
11. A finish the work in 10 days. B is 60% efficient than A. So how days does B take to finish the work?
12. A finishes the work in 10 days & B in 8 days individually. If A works for only 6 days then how many days should B work to complete A’s work?

13. Given the length of the 3 sides of a triangle. Find the one that is impossible? (HINT : sum of smaller 2 sides is greater than the other one which is larger)

14. Find the singularity matrix from a given set of matrices?(Hint det(A)==0)

15. A 2D array is declared as A[9,7] and each element requires 2 byte. If A[ 1,1 ] is stored in 3000. Find the memory of A[8,5] ?

16. Sum of slopes of 2 perpendicular st. lines is given. Find the pair of lines from the given set of options which satisfy the above condition?

17. (Momentum*Velocity)/(Acceleration * distance ) find units.

18. The number 362 in decimal system is given by (1362)x in the X system of numbers find the value of X a}5 b) 6 c) 7 d) 8 e) 9

19.  4, -5, 11, -14, 22, --- n^2-1 series.........3 8 15 24 ?
20. It was a word SENSATIONAL if you interchange 1st word with 2nd ,3rd with 4th n so on whta will be the 12th word from right..?ans.E
21.  What is the largest 7 bit prime number ? Ans := 127
22.One curve problem was given .x          y    ,0.99    0.001,9         0.9,99       1.998,999     3,
If y = f(x) find f(x)? Ans logx

23.The size of the bucket is N kb. The bucket fills at the rate of 0.1 kb per millisecond. A programmer sends a program to receiver. There it waits for 10 milliseconds. And response will be back to programmer in 20 milliseconds. How much time the program takes to get a response back to the programmer, after it is sent? ans.10.011N(check it)

24. (force*distance)/(velocity*velocity ) ans: mass

25.& is for doubling the value, % is for change of sign then what is the value of 5-&%&5

26.The two dimentional array is declared as A[9,7] and column wise each element requires 8 byte.If A[1,1] is storedin 1200.find the memory of A[8,5]?

27. find a number which is divided by 4,5,6 respectively which gives the remainder 2,3,and 4 respectively.

28.There is a race track in which only 9 horses can race at a time.There came 81 horses and what is the min no of races needed to find the 4 champions?.Selection is not based on time but on position.

29. One man says truth only in one day in a week.One day he said- I lie on Mondays and Tuesdays. Next day he said-today is either sat,sun or Thursday.Next day he said-I lie Fridays and Wednesdays.In which day of the week the man says truth?

30. In a group(A,B,C) there is a female and 2 males.The males say truth in the morning and lies in the afternoon.Female lie in the morning and says truth in the afternoons.One day a man asked the group what time it is.they replied like this -->A:-B is female;B:-C is male;C:-A is female ; Identify their correct gender?…

 31.1/3rd ppl in a village lie.nxt 1/3rd says truth and last 1/3rd are ‘normal’,ie, says sometimes truth and sometimes lie.A tourist met a man on the road on two

consecutive days.what is the probability that he is ‘normal’?

32 A chessboard of 80 cm size .A 2cm diameter coin is tossed into the board.What is the probability that the coin fall completely on the white square?

33.There are 10 marbles each of 5 diff colors. what is the min. num of marbles to be taken out so that at least 3 marbles are of same color?

34). A family, planning a weekend trip, decides to spend not more than a total of 8 hours driving. By leaving early in the morning, they can average 40 miles per hour on the way to their destination. Due to the heavy Sunday traffic, they can average only 30 miles per hour on the return trip. What is the farthest distance from home they can plan to go?

(a) 120 miles or less ( Between 120and 140 miles © 140 miles

(d) Between 140 and 160 miles (e) 160 miles or more (Solve)

35).One year ago Pandit was three times his sister's age. Next year he will be only twice her age. How old will Pandit be after five years?

(a) 8 (b) 12 (c) 11 (d) 13 (e) 15

36. While traveling from one station to the next, after 1 hour a piston burst. As a result the party could only proceed at 3/5 their original speed and arrived 1 hour late. If however the accident had happened 50 minutes later, they would have arrived 40 minutes earlier than the time they did arrive at. What is the distance between the stations?

38.A person Buy some clothes from wholesale at some discount and think when will he sale it at retailprice he get 40% profit.But some how after selling whole clothes he feel that he get 39% lose. After searching the reason he came to know his Weight meter ( clothe meter) is not proper .Can you tell we How much meter weight and is it more or less from normal. [ 4 Marks]

39. A car is travelling at uniform speed.The driver sees a milestone showing a digit number ,after travelling for an hour the driver sees another milestone with the same digits in reverse order after another hour the driver sees another milestone containg the same two digits what is the average speed of the driver. [6 Marks]Answer:- 45 Kmph(PROCEDURE REQUIRED-I KNOW THE ONLY POSSIBILITIES ARE 05,50; 16,61; 27,72; 38,83; 49,94-WHT ABT THE READING AFTER 2ND HR?)

 40. A weighing balance of unequal length bars. One kilogram on left pan is equal to 8 melons on the right pan. One kilogram on right pan equal to 2 melons on the left pan. What is the actual weight of the watermelon?

 41.5 glubs killed by 5 knights. The slain 5 glubs are laid on the ground with from head to toes in a line of 200 ft. There is a gap of 5 feet between each successive head and toe. First, third and last of the glubs are of same length and so as second and fifth are of each height. Find the height of each glub? (DID’NT UNDERSTAND THE HIGHLIGHTED PART)

 42. A man jumps into a river from a overbridge ,at the same time a hat drops in the river which flows with the stream of the water. That man travels 10 minute upstream and returns back where he was asked to catch the hat. He catches hat at a distance of 1000 yard down at a second bridge . Find the speed of the river.(some different wording was given)

43.Two wine merchant s reached on paris gate.A is having 64 barrels wine and B is having 20 barrels.A paid 5 barrel plus 40 frank as tax and B paid 2 barrels and got 40 franks in return.What is the cost of one barrel and how much is tax per barrel.

 44.A says to B " when we met last exactly 4 years back ,you were having two kids,How old they are now?"B says "Not two ,three meanwhile"."The product of their ages is ninty six ,and sum is equalent to your house number."A says "You are smart" .But i am not sure tell me more. B says "Its easy you can find it "Question :What is the sum of their ages?(6 marks).

 45.A shopkeeper likes to arrange and rearrange his collection of stamps. He arranges them sometimes in pair, sometimes in bundle of three, sometimes in bundle of fours, occasionally in bundle of fives and sixes. Every time he's left with one stamp in hand after arrangement in bundles. But if he arranges in the bundle of seven, he's not left with any stamp. How many stamps does a shopkeeper have?(I GOT THE ANS AS 301 BUT ITS MENTIONED AS 721)

 46. 0, 2, 4, 6, 8, 12, 12, 20, 16, ____      1,2,3,8, __, 224.           2, 8, 64, 512

 48.We are given 100 pieces of a puzzle. If fixing two components together is counted as 1 move ( a component can be one piece or an already fixed set of pieces), how many moves do we need to fix the entire puzzle.Ans: 18

49.  A person has some money. He went for a shopping. He went to 5 shops and spend all the money He spent Re 1 more than previous shop. Find out how money he  had when he went for shopping?

50.There was a race b/w 3 people: me, doug and anne when I take 21 steps the distance covered is equal to doug 24 steps and anne 28 steps. I take 6 steps to every 7 steps of doug and 8 steps of anne.who won the race?

 51.A passenger train requires the time to overtake a freight train which is double than the time it takes to cross the train when it is coming from opposite direction.What multiple of freight  trains speed is the passenger trains speed.

52. Tom sent some stamps to KIM and JOANE. tom asked kim abt how much each of them got kim replied 'Joane got three more than half of wat she got,if  i had kept three more than half of wat she got.' tom said'OK how much did u keep?" Kim replied "jus 2 more than wat jone got!".How many stamps did TOM send?

53. A Couple decided to travel a north country side .so they decide to travel a minimum amount on car the first day and the second and sbsequent day  a distance of 20 miles .If they travel a total amount of 1080 miles.Find The distance travlled on the 4th day and the 9 day.

54. A card boarb of 34 * 14 has to be attached to a wooden box and a total of 35 pins are to be used on the each side of the cardbox.Find the total number of pins used .

55. During a Pizza buffet where A eats more times 2.4 than B, and B eats 6 times less than C.find the leat number of times all the three has to eat.

56.. Amir,shahrukh,sunil and salman were quarelling among them saying each ones daughter madhuri,rani,junhi.manisha is more beautiful than other .so they decide to have a poll. each one has 5 votes to be distributed among the 4 and highest vote that can be given  is 3 and the of votes are different from rest (if salman gives votes like 2,2,1.0 ,this cant repeat with others).The other restrictions are :salman decided that it will be prudence to share equal marks between all the freinds daughters.sunil gives Highest vote to his daughter rani. amir gives equal marks to Manisha and juhi.Shahrukh doesnt give any marks to his daughter as he thinks his daughter is haughty enough for other to vote . Give the votes poled by others to Madhuri.

57. An Eraser,Pencil,Notebook together costs $1.00. Notebook costs more than the cost of 2 Pencils. 3 Pencil costs more than 4 Erasers. 3 Erasers costs more than a Notebook.How much does a pencil costs? (5M)

58. There is a five digit number. The fifth digit is one fourth of the third digit and one half of the fourth digit. Third digit is one half of the first digit., second digit is 5 more than the fifth digit.What is that 5 digit no.? 

59. A boy goes to school from his house.on one fourth oh his way to school, he crosses amachinery station. And on one third of his way to school, he crosses a Railway station.He crossed the machinery station at 7:30 and he crosses the Railway station at 7:35.when does he leave the house & when does he reach the school ? (5M)

ANNA University-Campus Recruitment July2006
1.What is the largest prime no that will fit in 6 bit memory?Ans: 61Approach: 

2.Which of the following highest Standard deviation

a.7, 0, 7,0, 7,0 b) 7, 7, 7,7,7,7 c) -7, - 7, -7,-7,-7,-7 d) -7, 7, -7, 7,-7, 7Ans: d)

3.A power unit is there by the bank of the river of 900 mtr width. a cable is made from power unit to power a plant opposite to that of the river and 3000 mtr away from the power unit. The cost of the cable bellows water Rs5 / mtr and cost of cable on the bank is Rs 4/ mtr. Find the pt where the cable cut through the river.1.2800 2. 3000 3. 2100 4.3900 Ans: 2100

4.Which of the following do not form triangle? a)5,4,7 b) 3,4,7, c) 3,4,5 d) 1,8,5Ans: d)

5.If A, B, C are the mechanisms used separately to reduce the wastage of fuel by 30%, 40%, 10%. What will be the fuel economy if they were used combine?Ans: 62.2

Approach: ( 70/100)*(60/100)*(90/100)*100=37.8Economy=(100-37.8)=62.2

6.The number 384 in decimal system is given by (1432) x in the X System of numbers find the value of X a} 5 b) 6 c) 7 d) 8 e) 9Ans: a)

7.Whatistheunitofthefollowing?(power*time)/(velocity*velocity)Ans:massApproach:power=work/time,hencenumerator=(work*time)/time=work,work=Force*distance,Force=mass*acceleration,accelaration=distance/time^2,now numerator is (mass*distance^2),(time^2)denominator is (distance^2) / (time^2) since velocity=distance/time

8.2 student get 3 and 3.5 in their class exam And 1.2 and 1.45 in final exam respectively . What might be the class marks of 3rd student who have got 0 marks in final exam?ans: 0.25

Approach: take the diff and find out

9. A building with height D shadows up to G. A neighbour building with what height shadows C feet.   a) C/D*G b) C+D/G c) C-D*G d) (C*D)/G

10. A bus started from the bus stand at 8 AM and after staying 30 minutes at a destination returns back to the bus stand. The Destination is 27 miles from the bus stand. The Speed of the bus is 18mph. In the return journey the bus travels with 50% fast speed.At what time it is returns to the bus stand.a) 1 PM b) 12 PM c) 11 AM d) 10.30 AM

11.Complete the series. 5,9,11,15, __, 21,23     a) 18 b) 19 c) 24 d) 17

12. Which shape will be obtained by using these values of x, y?

X Y    0 0.00001     10 1.02        100 1.72        1000 3.00           4.72

13. If DPYGP is coded as BRAIN then EMXCT is coded as ____________?

14.in the word PARLIAMENTARIANS change first with second, third withfourth and so on?. Find the tenth letter from the right?

15.largest prime number in 6,7,8,9-bit memory? --- Ans:61,127,251,509

16)The size of a program is N. And the memoryoccupied by the program is given by M = sqr root(4000*N). If the sizeof the program is increased by 1%then how much percentage does the memory increase? Ans 0.49%

17)What is value of 466 to the base 7 ---ans:1234  In which of the system 384 is equal to 1234?

534 what is the base ans:7

18.Series:

1)5,6,7,8,10,11,14, ?

2) 2, 5, 9, 19,37,75

3) 9 10 11 13 15 19 21 28

4) 7 26 63 124 215 342 n cube -1

5) 7 8 __ 11 13 17 19 26

6)7 9 13 19 27 37 +2 +4 +6 +8+10

7)8 9 10 11 13 14 17 18 alternate numbers +1 +2 +3

8)5 7 10 15 22 2 3 5 7 prime numbers

9)1 5 11 19 29 4 6 8 10

10)3,5,9,17,35,65 2(previous)-1

11)8,9,11,13,_ ,19,23 ans:16(11 + 5)

12)1,2,_,12,27,58 ans : 5 (58-4/2),(27-3/2),12-2/2 =5,5-1/2,

13)2,,7,24,77,_

(hint : 2*12=24,7*11=77,24*10=240)Ans:240

19. log 3.142=0.4972 061807 and log 3.143=0.4973443810 find log 3.141=? 0.497067396

20.(Energy * time * time )/(mass * dist) = distance

(momentum * velocity)/(force * time) = velocity

Energy*time/velocity*velocity ans:Ns³/m or Kg S

21)in which system 1342 represents whose decimal value is 222   ans:5

22)in a triangle sum of any two sides should be greater than the

other side  e-g 3,8,3 will not be the triangle ?(3+3<8)

23) OENIR is coded as BRAVE then CYRNFR is coded as  please

24) X is an array (7,9)-- x(1,1) is stored in 1200 and eachelement occupies 2 bytes then x(5,8) address , ans:{[4*9+(8-1)]*2 + 1200}= 1286

25)TIME DEGREE  2 pm - 7 6' 43.15"   4 pm - 5 31' 4.3" what is the angle produced at 3 pm

Ans: take the average 6 18' 53.725"

26)efficiency of individuals 40% 20% 10% what will be the efficiencyif they work together? Ans:56.8% [40+(20%of 60)+(10%of 48)]

27) A power unit is there by the bank of the river of 900 mtr width. A

cable is made from power unit to power a plant opposite to that of the

river and 3000 mtr away from the power unit. The cost of the cable

bellows water Rs.5 per mtr and cost of the cable on the bank is Rs.4

per mtr. Find the total of laying the cable.

Ans: 900*4 + (3000-900)*5 = 14100

28. find the missing no in the series 2,5, , 19,37

29. If VXUPLVH is written as SURMISE, what is SHDVD? PEASA

30. 58,27,12,x,2,1. Find x.

31.vertices edges and surfaces of a cube Ans-8,12,6

32. 7,9,13,_,27,37. Ans-19

33.SURFW Code is translated as SHEET…..

34.the13.194 base 10 == ____ base 5 (1234)
35.n=h x 12 x 51 Which of the follg is not an integer Ans- n/122

36.Which is a/not a power of 2 or 3. Power of 4 Ans-4096

37.Complete the sequence 9,10,11,13,15, __, 21,28.

38.In a certain format TUBUJPO is coded as STATION. The code of which string is FILTER?

39. What is the code formed by reversing the First and second letters, the third and fourth letters and son on of the string SIMULTANEOUSLY?

40.The base 5 representation of the decimal number 2048 is _____.

41.Which is the largest prime number that can be stored in a 9-bit register?

42.Find the physical quantity represented by MOMENTUM *VELOCITY] / [LENGTH * ACCELERATION]?

43. A finish the work in 10 days. B is 60% efficient than A. So hoW days does B take to finish the work?ANS : 4DAYS. 

44. A finishes the work in 10 days & B in 8 days individually. If A works for only 6 days then how many days should B work to complete A?s work?ANS : 3.2 DAYS(4)

45. Sum of slopes of 2 perpendicular st. lines is given. Find the pair of lines from the given set of options which satisfy the above condition?

46. The number 362 in decimal system is given by (1362)x in the X system of numbers find the value of X a}5 b) 6 c) 7 d) 8 e) 9

47. Given $ means Tripling and % means change of sign then find the value of $%$6-%$%6

ANS : -72

48. My flight takes of at 2am from a place at 18N 10E and landed 10 Hrs later at a place with coordinates 36N70W. What is the local time when my plane landed.a) 6:00 am b) 6:40am c)7:40 d)7:00e)8:00 (Hint : Every 1 deglongitude is equal to 4 minutes . If west to east add time else subtract time)ANS: (E) 8:00 

JADAVPUR UNIVERSITY 2007
1. Two pencils costs 8 cents, then 5 pencils cost how much(Ans:20 cents).

2. A work is done by the people in 24 min. one of them can dothis work a lonely in 40 min. how much time required to do thesamework for the second person.(ans:60 min.)

3. A person who decided to go weekend trip should not exceed 8hours driving in a day Average speed of forward journy is 40 mph. duetotraffic in sundays, the return journey average speed is 30 mph. how far he can select a picnic spot (120 miles).

 4. A sales person multiplied a number and get the answer is 3,instead of that number divided by 3. what is th answer he actually has to get ? (1/3).

 5. A ship started from port and moving with I mph and another shipstarted from L and moving with H mph. At which place these twoshipsmeet ? ( Ans is between I and J and close to J)

6. A building with hight D ft shadow upto G A neighbour buildingwith what height shadow C ft is (B ft.)

  7. A person was fined for exceeding the speed limit by 10mph.Anotherperson was also fined for exceeding the same speed limit by twicehe same. If the second person was travelling at a speed of 35mph.find the speed limit (15 mph)

 8. A bus started from bustand at 8.00a m and after 30 min stayingat destination, it returned back to the bustand. the destination is27miles from the bustand. the speed of the bus 50 percent fastspeed.at what time it retur4ns to the bustand (11.00)

9.in a mixture, R is 2 parts, S is 1 part. in order to make S to25% of the mixture, howmuch R is to be added ( one part).
10. two trees are there. one grows at 3/5 of the other. in 4years,total growth of trees is 8 ft. what growth will smaller tree willhave in 2 years. (<2ft)

 11. A storm will move with a velocity of towords the center inhours. At the same rate howmuch far will it move in hrs.(but Ans is 8/3 or 2 2/3).

 Papers FromCalicut REC 2006
1. If two pencils cost 8 cents, then how much do 5 pencils cost?Ans. 20 cents

2. Some work is done by two people in 24 minutes. One of them can do this work alone in 40 minutes. How much time does the second person take to do the same work ?Ans. 60 minutes

3. A salesperson by mistake multiplied a number and got the answer as 3, instead of dividing the number by 3.What is the answer he should have actually got?Ans. 3

4. A building with height D shadow upto G. What is the height of a neighbouring building with a shadow of C feet.Ans. (C*D)/G

8. A person was fined for exceeding the speed limit by 10 mph. Another person was also fined for exceeding the same speed limit by twice the same. If the second person was travelling at a speed of 35 mph, find the speed limit.Ans. 15 mph

9. Wind flows 160 miles in 330 min, for travelling 80 miles how much time does it require?

Ans. 2 hrs 45 mins

10. With a 4/5 full tank a vehicle can travel 12 miles, how far can it travel with a 1/3 full tankAns. 5 miles

11. There are two trees in a lawn. One grows at a rate 3/5 of the other in 4 years. If the total growth of trees is 8 ft. What is the height of the smaller tree after 2 yearsAns. 1 1/2 feet

12. If A is travelling at 72 km per hour on a highway. B is travelling at a speed of 25 meters per second on a highway. What is the difference in their speeds in m/sec.Ans. 1 m/sec

 13. There are 150 weights .Some are 1 kg weights and some are 2 kg weights. The sum of the weights is 260.What is the number of 1kg weights?Ans. 40

14. A moves 3 kms east from his starting point . He then travels 5 kms north. From that point he moves 8 kms to the east.How far is A from his starting point?Ans. 13 kms

  15. A car travels 12 kms with a 4/5th filled tank.How far will the car travel with 1/3 filled tank?Ans. 5 kms

  16. The sum of the digits of a two digit number is 8. When 18 is added to the number, the digits are reversed. Find the number?Ans. 35

17. The cost of one pencil, two pens and four erasers is Rs.22 while the cost of five pencils, four pens and two erasers is Rs.32.How much will three pencils, three pens and three erasers cost?Ans. 27

18. Fathers age is 5 times his son's age. 4 years back the father was 9 times older than son.Find the fathers' present age.Ans. 40 years

19. What number should be added to or subtracted from each term of the ratio 17 : 24 so that it becomes equal to 1 : 2.Ans. 10 should be subtracted

20. What is the 12th term of the series 2, 5, 8, ....Ans. 35

21. If 20 men take 15 days to to complete a job, in how many days can 25 men finish that work?Ans. 12 days

22. In a fraction, if 1 is added to both the numerator at the denominator, the fraction becomes 1/2. If numerator is subtracted from the denominator, the fraction becomes 3/4. Find the fraction.Ans. 3/7

23. If Rs.1260 is divided between between A, B and C in the ratio 2:3:4, what is C's share?

Ans. Rs. 560

24. A shopkeeper bought a watch for Rs.400 and sold it for Rs.500.What is his profit percentage?Ans. 25%

25. What percent of 60 is 12?Ans. 20%

26. Hansie made the following amounts in seven games of cricket in India: Rs.10, Rs.15, Rs.21, Rs.12, Rs.18, Rs.19 and Rs.17(all figures in crores of course).Find his average earnings.Ans. Rs.16 crore

27.     1. (energy * time * time )/(mass * dist) = distance

          2. (momentum * velocity)/(force * time) = velocity 

28. 58,27,12,x,2,1. Find x. 

29.Pick the odd one….. 

1.http 2.arp 3.snmp 4.sap Ans-sap      1.linux 2.windows NT 3.sql server 4.Unix Ans-Sql server

30. 7,9,13,_,27,37. Ans-19 

31.194 base 10 = ____ base 5 (1234) 

32.Which is a/not a power of 2 or 3. Power of 4 Ans-4096 

Campus Recruitment NIT Durgapur2006  
1).A Flght takes off at 2 A.M from 32 N 40 E and travels for 9 hours to reach the destination which is at 12 N 50 W. Find the local time of destination when the flight reaches there?  ( soln : 1 degree =4 minutes.. Neglect the latitudes .. 40 - (-50) =90 degree = 90 * 4 =360 mins =6 hrs.....time of reaching = 2AM + (9 - 6){substraction as from east to west}hrs =5 A.M ans)
2) find units: (Momentum*Velocity)/(Acceleration * distance )ANS=KG

3) Select the odd one out a. WAP b. HTTP c. BAAN d. ARP e.SMTPans = BAAN

4.which number of the series 65   33    17  !!  7  5

5) no of edge,phases,vertices in a cube  (12,6,8)

6)find the missing term.2,4,6,3,6,?,,8,16.   ans 9

7)largest prime no ofof 9 bit  ans-509

8) A may complete a work in 90 days ,A+B complete the work in 60 days  in how many days B alone may complete the work.    ans=180days

9)the base address(A[1][1]) of an int array A[7][5] is 1620 and int takes 4 byte to store in the memory then find out the address ofA[5][2].                         ans=1704

10.   2,3, ,6,6,9(ans-4)

11.In a two-dimensional array, X(9,7), with each element occupying 8 bytes of memory, with the address of the first element X(1,1) is 3000, find the address of X(8,5).

largest prime no. in 6 bit computer. Ans:61(2^6=64 the nearest prime is 61)

12.A power unit is there by the bank of the river of 900 mtr width. a cable is made from power unit to power a plant opposite to that of the river and 3000 mtr away from the power unit. The cost of the cable bellows water Rs5 / mtr and cost of cable on the bank is Rs 4/ mtr. Find the pt where the cable cut through the river.1.2800 2. 3000 3. 2100 4.3900 Ans: 2100

13.Which shape will be obtained by using the following values for X and Y

 X     0             10      100    1000  9999 

Y   0.00001     1.02   1.72   3.00   4.72       Ans: Y= log10(X)

14 . A work is done by the people in 24 min. one of them can do this work a
lonely in 40 min. how much time required to do the same work for the second
person. (ans:60 min.)
15. If the length of a rectangle is increased by 30% and the width isdecreased by 20%, then the area is increased by...a) 10% (b) 5%(c) 4% (d) 20%(e) 25%

16. In the class of 40 students, 30 speak Hindi and 20 speak English.What is the lowest possible number of students who speak both thelanguages?(a) 5 (b)20 (c) 15 (d)10 (e) 30

17. The most economical prices among the following prices is:(a) 10 kilo for Rs.160 (b)
2 kilo for Rs.30 (c) 4 kilo forRs.70(d) 20 kilo for Rs.340 (e)8 kilo for Rs.130

18. A truck contains 150 small packages, some weighing 1 kg each andsome weighing 2 kgeach. how many packages weighing 2 kg each are inthe truck if the total weight of all the packages is 264 kg?(a) 36 (b)52 (c) 88 (d)124 (e) 114

19. A man was arrested for exceeding the speed limit by 10 miles anhour. A second man was charged with exceeding the same limit by twiceas much. The second man was driving 35 miles per hour. What was thespeed limit?(a) 10 miles per hour(b) 15 miles per hour (c) 20 miles perhour(d) 25 miles per hour(e) 30 miles per hour

20.Next number in the series:77,49,36,18,?answer 8
21) (x-y/3)-(y-x/3)=?
22)x:y=3 and x+y=80 what is the value of y?answer y=20

23)How many 3 digits with 3 Distinct digits are there from 100-1000.
24) one rectangular plate with length 8inches,breadth 11 inches and2 inches thickness is there.what is the length of the circular rodwith diameter 8 inches and equal to volume of rectangular plate?ans: 3.5inches

25) in some game 139 members have participated every time one fellowwillget bye what is the number of matches to choose the champion to beheld?ans: 138
26) one fast typist type some matter in 2hr andanother slow typist type thesame matter in 3hr. if both do combinely in how much time theywill finish.ans: 1hr 12min
 
   TCS  PAPER ON 7th APRIL AT HYDERABAD
1. A, B and C are given as :A = 11011011 B = 01111010 C = 01101101

Find the decimal equivalent value of (AUB)^C where ^ denotes Intersection

2.  It was a Number series4, -5, 11, -14, 22, ---

3) It was a word ADMINISTRATION if you interchange 1st word with 2nd ,3rd with 4th n so on whta will be the 10th word from right..?

4)  What is the largest 6 bit prime number ? Ans := 61

5.WHICH WILL GIVE GOOD STANDARD DEVIATION

   1. (7,0,-7,0,7)          2. (7,-7,7,-7,7)    3. (1,0,-1,0,1)

6.Which of the following highest Standard deviation

5, -5,5,-5, 5,-5 b) 5,5,5,5,5,5 c) -5,-5,-5,-5,-5,-5 d) -5,5,-5,5,-5,5
7.. FIND THE MISSING NO. IN  SERIES ? 9   10  11  13  15  ?  21   28

8.LARGEST NO. THAT CAN BE STORED IN A 9-BIT COMPUTER.

6 BIT ------61,7 BIT-----127,8 BIT-----253,9 BIT----- 509

9.Which shape will be obtained by using the following values for X and Y

        X     0             10      100    1000  9999 

        Y   0.00001     1.02   1.72   3.00   4.72       Ans: Y= log10(X)

 10 In a two-dimensional array, X (7, 9), with each element occupying 8 bytes of memory, with the address of the first element X (1, 1)=3000; find the starting address of  the element at X (5,8).  (Ans: 3172)

Sol: (4 X 9) + 7 = 43 X 4= 172 à 3000+172 == 3172 ( i.e completely 4 rows r filled , in fifth row up 7th cell is filled next cell is required address )

 11.Complete the series— a)3,8,a,24,b,48,63    [  ANS~ a=15,  b=35  ]

      [  HINT~DIFFERENCE  IS  5,7,9,11,13,15  ] b)26,19,17,13,11,  ,8,7  [  ANS=9]

 [  HINT~26,17,11,8  DECREASING LIKE  9,6,3  &  19,13,9,7  DECREASING   LIKE  6,4,2  ]c)9,10,11,13,15,  ,21,28     [  ANS=19  ]   [  HINT~9,11,15,21  INCREASING LIKE 2,4,6   &   10,13,19,28  INCRESING LIKE 3,6,9] e) 4, -5, 11, -14, 22, ---      [   ANS= -27  ]

12.CODING  &  DECODING—

   a)QJFBTF=PLEASE  then  HBJO=?          [  ANS=GAIN  (PREVIOUS LETTER)  ]

   b)TAFJHH=RBEKGI  then  RBDJK=?       [  ANS=PCCKJ  (PREVIOUS+ AFFTER  LETTER)  ]

   c)TUBUJPO=STATION  then  FILTER=? [  ANS=SIMILAR TYPE

13)In which base of system,decimal no 194 is equal to 1234? OR  (194)10=(1234)X.X=? [ANS=BASE  5 ][ HINT=  X3*1+X2*2+X1*3+X0*4=194, orX3+2X2+3X=190,  or  X=5 ]                                 

14. Complete the series 26, 19, 17, 13, 11,--, 8, 7(Ans: 9). Sol: 26,17,11,8 these are  decreasing  like 9,6,3 where 19, 13, 9, 7 these are decreasing like 6, 4, 2

15. Which of the following straight lines are perpendicular to each other?

             1)2x+y=8     2)x=4          3)y=6          4)2y=x+3

16. which is the next no:

5,6,7,8,10,11,14,? ans: 18

17. which equation that best suits this curve.a line cuts x at -1 when y=0 and x=0 when y=3 andgoes upward y x

18. in a planar cube , the no. of vertices, no of edges and no of faces are

1. 6,6,6 2. 4,8,12 3.... 4.........

19. which is the perfect one among the 4

1. 2x +3y=4 2. x + y= -1 3. y=2x+ 3

